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ST : (1) S@abg eilamssenn sflurs eiFal ufeurd 2 daTsT ereTLSmeT

sfluriggé Qsrereraybd. ofaludaian Ganumlla smné
sesrentiiumerfl_ib 2 amnquirs Ggfeildse, .
(2 Bewd oz smiy emwulmar I HGW rupGHISHE LLGLHGS
Geuant(HLd.  LILAIGET cueneusn@ Gueméled LiwiemHsseyLb.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor inmediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

. GOuY : Geuclamgsrer ppetimy M6 smers CQErarg).
Note : This question paper contains three sections.
9fley - 1/ SECTION - I
(oHLQuesmaer : 15) / (Marks : 15)

Geay : () @udfefd o drer 15 efanmésEnéEd el teflésab. 15x1=15
(i) eeoLiys GHulaydr Asr@asiul Rerer wrpny ol sefld
Wasyd sflwrer eflenanwg Carp@sHSs 6T(PSa|D.
Note : (i)  Answer all the 15 questions.
(i) Choose the correct answer from the alternatives given in the brackets.
1. 8 weallgear Coreamblug.
(U, SCwilssT, pevdGrailur, Ghdlur)
Primitive man evolved in :

(Africa, America, Australia, India)

[ $@lys / Turn over
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2. weppsors G LFe|n pe. .

(gaflé Abgse, aumbeuurss Qslgse, sri Cal Qamariys s, Cprure
UweTUHSSID £ L eHIDSET)

One of the means of indirect transmission of a disease is

(Sneezing, Droplet from mouth, Placenta, Utensils of patients)

3. Bl eameneuss eflengenis ipdgid Aurg s eulflurs B sfdpg).
(Qevasgimer, Qaari@ed, anosGrraud, wpaerGaur)
If a water soaked seed is pressed, a small drop of water comes out through :

(stomata, lenticel, micropyle, radicle)

4. greurhiseia emsosdlern Lenfl :
(Barrs sLGgIg, ammeas sLEgs®, JWGam llagms sLFgse0,
B GEAIDORT HLGIISD)
The xylem in the plants are responsible for :

(transport of water, transport of food, transport of amino acids, transport of oxygen)

5. &MUUS SRS erampenpssliupielg)
(emanl Crramiuenser, &ifl, GLIGrredwib, Frgi)
What is called as “black gold“?
(Hydrocarbons, Coal, Petroleum, Ether)

6. PELD WPSFHEGeTILLeTEN saurdlEsluLaLSSID TS Hame :
(afellwid - eybedlmer ; gpsadieem - apLrmen)
The mixture of gases used by deep sea divers is
(Helium-Oxygen, Oxygen-Nitrogen)

7. 2flnsé sblesdd dafllsr o drerg. sullfle edrer idlew
(wr&lgd obleod, Lmiimflé ydlen)
Vinegar is present in acetic acid. Curd contains acid.

(Lactic acid/Tartaric acid)
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11.

12,
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g 2 Carsd LUTETFsgL e G&r'rﬁg,.rrgm.b 2ASHE @ressmamal erenn Guw.
un@ismer @LLLSHEG UWaU@L GQres somel :

(Ag-Sn @Qres sweel, Cu-Sn Blres snahel, Ag-Au @res sawame)

Any metal mixed with mercury is called amalgam. The amalgam used for dental filling
is "

(Ag-Sn amalgam, Cu-Sn amalgam, Ag-Au amalgam)

peier arssar oL eumanuiler o drer Qgr_isaflan ereamantlEames :

(7,17, 8, 18)

Number of periods in the Modern Periodic table is

(7, 17, 8, 18)

Arrlamul oGarsnrs @GSt aerrsmss sL_sadng). G)s)

-6 STYETIONG HLSSIEmSI.

(3eMds eras rrensar / 9enanTliL] eTadd_FremseT)

Even though it is a non-metal, graphite conducts electricity. It is due to the presence of
(free elect-;ns/ bonded electrons)

2 Wf Agrdléd mILu eardl wmpgsmas Galré Qalyb Geallfl Qgmfldm L
S LIL|&ET .

(afedlwib, enplyeen, Curefuir, @Garmer)

The freezing of biotechnology products like vaccines require freezing
systems.
(Helium, Nitrogen, Ammonia, Chlorine)

20 @b 1Bletr Ham_wjemer &biudled 0.2 A flanCammLib o (Heursss CoameuliLiHibd
Wenenmpss Goumuir(.
(100V, 4V, 0.01V, 40V)

The potential difference required to pass a current of 0.2 A in a wire of resistance
20 ohms is

(100V, 4V, 0.01V, 40V)

HCeameur wenfl ereLig) -6l BIVG DSLD.

(Bler @158 Geumur®, Werdlper, Werermhmne, Wlengpm L ib)
Kilowatt-hour is the unit of

(potential difference, electric power, electric energy, charge)

[ &®liys / Turn over
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14. 2 Garss sLgHuld urwn BaCearmiLib sigmers sHl
2 (HeUTEESLD.

— &

(Qausuid, gefl, srbglLeb, erhfreias)
An electric current through a metallic conductor produces around it.

(heat, light, magnetic field, mechanical force)

15. Sl luriaes @apurl el &M Gedu vweruHpg).
(@ Qaveinev, @flwened, Gl 2. @6l i)
The defect myopia can be corrected by using a

(Convex lens, Concave lens, Concave mirror, Convex mirror)

19fl&y - 1T / SECTION - I1
(wdLiGuenrser : 40) / (Marks : 40)

@Puy : aCseyn Bmus darsseséss almiwafssa)b. 20x2=40

Note : Answer any twenty questions.

16. @Gy wrfflurer @rleLwisdar, GCrmCwrCorb @wLUGgD
@éd@spgauisdr. @Qupmsurar @rieiwiser @Cr wrdAwurea
@&GrrGionCemb oienwlntle) pidlenshgerger.

ECp @MU Lsneusemst 5@bg sunigemng Canam® rpemoliubss

(<) @Cr wréfluren @QrlepLwissr . (Qupmswren
@rieLwisear /ead@elssiul L @Il wiser)

(<) @Gy wrdflurer @rieiwiser ____ (Caumur@e@sar
sreruu@eut /| @Grordflura Q@i o e WeursHT)

Identical twins are syngeneic with similar chromosomal contents. Natural clones are
those who possess identical chromosomes.

Fill up with the suitable word given in the brackets.
(a) Identical twins are

(natural clones/identical clones)
(b) Identical twins are

(dissimilar to each other/similar to each other)



17.

18.
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maul_Liflenger @eonur’H Crriser QuUTmsss.

6. 616801| emeu L BleimaeT | @smpum_(® Crmisst
1 el LLOler A Qufl Quf
2 aneul_L e By avsired
3 aneul_Lfler C M&QsL v
4 aaul_Liblen D Hl&GrGomwmr

Match the following vitamins with their deficiency diseases.

Sl. No. Vitamins Deficiency diseases
1 Vitamin A Beri beri
2 Vitamin B; Scurvy
3 Vitamin C Rickets
4 Vitamin D Nyctalopia

&Gy Qsr@ssuul@erer weally gpaardd daraumn QFuasmen
SLAUUESHD LGHsd papCu < LHNID <, ey GHIES.

(1) stsd e amd LGS

(=) UTTEDE 2 EwI(HD LiEH

\(r—’,\_‘
P B
/\

This diagram is of a human brain and the functions of different parts are given below.
Mark A and B in the parts of the brain corresponding with the function.

(A) Seatof smell
(B) Seat of vision

[ &miys / Turn over
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19.

20.

21.

QAsmiifen siglumLwile CamglL QLsms Hiriys.
angrréadlen - 2y Ehain anrrGwrer

ol Fenadlen -

Based on relationship fill in the blanks.-

Thyroxin : personality hormone
Adrenaline :

Epsar spmiser seuprs @mnder sfluren spileaner erpgis.

(=) peour Qedser Qarsdiamer 2 husd Qewdeapear. SiLr Csdser
GerGararaan o puss Qsiienper.

(<=1) siarLs1b 1pleL semembd, e’ Grremenenbd 2 HusH Cendng.

Correct the statements if they are wrong.

(a)  Alpha cells produce insulin and beta cells produce glucagon.

(b) Ovary produces eggs and Androgen.

Qar@ésiul Hdmer UL sms cuamrbg Spsar_ LUrshsmend @Ghlése.
(1) eréenaven
(@) gpmi Busafuan

Redraw the diagram and label the following parts :
(a) Exine

(b) Tube nucleus
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23.
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@apenwufer jgluamule serhs.
Hfiaden : udar sH{H&6T

Qeuereuma :

Based on relationship, fill up :

Whale : Baleen plates
Bat : i

EpsarL UL Gmg BamHh umrbg Sigwlnh s urshisaid gGsab
Qe UNTEhGameT G D560,

(==1) Quanwmrefler Hegmanrid
(=) GSemmin(mevaiv
(@) GamenCGeruller euanamay

() Ceafé@id preTd

ao

Y

U

v

Draw the diagram and label any two parts mentioned below :
a) Bowman’'s capsule

Glomerulus

Loop of Henle

Collecting duct

ORRONNC #

[ &pliys / Turn over
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24, Gomglcuperm Lisd Qelis.
(=1) Qemmavier : eUGfCGemeilen ; Qrés FHeuliugy :
(=) @rés QoucTenemiemy :
Fill in the blanks.
(a) Plasma : Fibrinogen ; RBC :
(b) WBC:

25. Gum@psrsms Caiblsd.
2 awreyll urengullen LiGHser :
(Qsrament, eumil, cumii&@L, seerui)
Pick the odd one out.
The parts of the alimentary canal are :

(Pharynx, Mouth, Buccal Cavity, Pancreas)

26. Spsenl eamelé smdldlow Lgss sf Qalg, oigeamen <o Grsrs
LorHo).
wGUfl —» el - sbualiyssl —» LmBS
Study the food chain below, correct it and convert into a pyramid of energy.

Mulberry — Sparrow — Caterpillar — Kite

27. Sl Qup Quers euarb aaTug G BuHms aarib. Gaamean wallg
misiefler CausgamgeaiL s Casiors Qupas Hlapedenra wrppari.
CupssiL smpeop Ligssl, saupransT Sdag sfluragm aremueng 2.mif Gaw.
saupTs Qrpsre sflurer sapidlamans sy

A non-renewable resource is a natural resource if it is replaced by natural process at a
rate of consumption by human.

Read this statement and confirm whether it is correct or incorrect. If it is incorrect give
the correct statement.



28.

29.

9 4830

@ Hrmngde 2008 - 2009 b &g ghulL Qsrhn Corisefen efleurh
alL aamruLwbrs Gasrhssiul@earerg. Qsmear smibgy Cprsd
Spseam_eundng efenwellssayb.

Qg aruFee
A gengeafur

(=) Qupburerer wasmer réHu CrmUgET wreneu?

(=) eréueurm @bs Grmiser Lra flarmen?
The Pie diagram represents a survey result of infectious diseases of a village during
2008 - 2009.

Analyse it and answer the following questions.

Dengue fever
chikungunya

(a) Which diseases affect the majority of the population ?
(b) How are these diseases transmitted ?

ghpow Cslées ogab srzamisaer  &psarieumdiel@mbs
Garb@gHsseib.

(@aflpd vdyaer, grfly Wer e, Gilw B GCLOM, Bar fir GCLpb,
LiievL_eir eilems@ser, Wenaram) e 2jenl)

Pick out the suitable appliances to conserve the electric energy.

(Fluorescent bulbs, copper choke, solar water heater, electric water heater, tungsten
bulbs, electronic choke.)

[ $mlunys / Turn over
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30. 2 GG EEIFME, Fmipwd sarsdlad kg GCoumnuBsss.
Distinguish between the true solution and colloidal solution.

31, 20 lymb senwwed 2 Uy 50 Syrd Bfle sarbdBheTd issmyse Qeflalsn
g5ei5 Hleovmaus sansd(s.
Find the concentration of solution in terms of weight percent if 20 grams of common
salt is dissolved in 50 grams of water.

32. Spssar. o srrammsaialhg pCGerGLirl, mGsrurisamer SepLWLITETLD
HTERTS.
188140, 1, 5Cat, 1, CIY
From the given examples form the pair of isotopes and the pair of isobars.
18A1%0, 7O, 50Cat, 1, CI7

33. (@) sawmamrbLs sdmad GHubhSSIDEUTE
(<=1,) Owsatdlw prremeud arhiler erféE@nCurg).
arpgeuanairar Gaudl eflanarsar Hlaspn?
What type of chemical reaction takes place when :
(a) lime stone is heated
(b) a magnesium ribbon is burnt in air.

34. Qurmpssis:
; - Bosesemiqw
61616807 |  QLPEVMRIGET L.
S|fleomisst
1 <, ar <p&enmedls = leb
2 ereYLildFens Lmflé yfleoln
3 Ayr_eng Dredl& ojLlevid
4 st S M& <=y levid

Match the following :

Sl No. Source Acid present
1 Apple Oxalic acid
2 Lemon Tartaric Acid
3 Grape Malic Acid
4 Tomato Citric acid




www.tnschools.co.in ‘11 March 2015 4839

@Qpiby =i HCl wpmib i HS0, 2 Lan eflaarflflmg). <yemmeéd i
HNO, 2 Lan eflevan|fleug Gévenev. 2 Ml srrermsgien 2 6 cllenLemu er(pgis.

Iron reacts with Con.HCl and Con.H,SO,. But it does not react with Con. HNO,.
Suggest yOUl‘ answer Wltl’\ P]’OPET reason.

<@flaflusder Lwenser @ramgamars sam).

Write any two uses of Aluminium.

Sipsaranid Cafoiisemer g elmatawud QarEduLar CLmmsss.

6. 6T6TST Gomorger sllenentlzwe Qsn@s
L DDA TED >C=0
2 < Dgman® - OH
3 &1 GL e - COOH
4 sriursadledls ojuflen - CHO

Match the following compounds with their functional groups :

Sl. No. Compounds Functional Groups
1 Alcohol >C=0
2 Aldehyde - OH
3 Ketone — COOH
4 Carboxylic acid - CHO

CamglL @ risener Hlylis.
(21) elews = Bleop x WPpEEsD crefled 2 Hsb = ?

(<) flreu aan rmear rréQs4d LwaL@EDs crafld MRI
uLd 9ggseiler LweTuGHDE.

Fill in the blanks.

(a) Force=mass X acceleration, then

momentum = ?

(b)  Liquid hydrogen is for rocket, then
is for MRL

[ Simiys / Turn over
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Epssranb smopsaid g Qurgaier HopCur® Asrmddors sbmp
TGS

(=) @5 @M gL eTey

(<) @8 @uplue srre Qeranh serssiu@Eng.

(@) @5 e srre Qaran() oarssiuBEng.

From the following statements write down that which is not applicable to mass of an
object.

(a) It is a fundamental quantity.

(b) It is measured using physical balance.

(c) It is measured using spring balance.

am HCar fymb Hlavm wppaugib BpHmers wropliuGn Curg S sEn
Sphn@os samisS@ (GMiy : C=3x108ms™1)

Calculate the energy produced when 1 kg of substance is fully converted into energy.
(Note : C=3x108ms™1)

Spsargnd @mpmsaie seum @mpsred Ffl Aawls.

(=) Apps DS apab erag g G Hops@ Gapps e Goma
Qerws snigwig).

(<) 2 LBWTHESSE Salqgw auigeild o dter ppare Bam@, WarTEn BT
LweanU(BSSaid.

Correct the mistakes, if any in the following statements :

(a) A good source of energy would be one which does a small amount of work per
unit volume of mass.

(b) Any source of energy we use to do work is consumed and can be used again.

1.5 V Baraflwsgelleans Qaram @@ Wasaanser 5 g, 10 gib, 15 gtb,
BlargeLger wHML &rell @eupennsd GsTLITESE Ga&TETL Q@@ SHML
UL gSlanen auenys.

Draw the schematic diagram of an electric circuit consisting of a battery of two cells of

1.5 V each, three resistance of 5 ohm, 10 ohm and 15 ohm respectively and a plug key
all connected in series.
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Gameumd eursflwgda Wenpsaflpubear Hmsseyb.
(1) sMhslyeD eram WHUY WG Qsreamm_ jere).
(=) snhs aves Car@iser abs Gsear waranuid Gsm_kdl e weaanuiad
Plgd.
Correct the mistakes, if any, in the following statements :
(a) Magnetic field is a quantity that has magnitude only.

(b) The magnetic field lines emerge from the south pole and merge at the north pole.

Spsa@TLauDDS GHSGD Samarilan LraEISmeT 6T (LDSIs.

(<=1) sair LUTeneueIS S HULGHSSID G SenFL eLd

(<) sameniled Qurmaflen Gbub 2 @@ Lrly

From the following description write down the names of the parts in human eye.
(a) Dark muscular diaphragm that controls the pupil.

(b) The screen where the image is formed by eye lens.

eowCurur ereamug searaflédr gafl sflowsade ghu@b LU urimas
G@pur® BGL. Qb5 G@pwdaeTaar ymaaarear GummeTsamens
Qzefleurasl urtssrd. sflwrar doaydrer GWlQads Qarar® E)& @Gmpenwé
&l Caliwemd.

(=) BCs auamswran Ceum Qram® cuanasd GapurBamers GOLIARs.
(=) Seupenp &fl Qe essens 2 arisgs.

You know that myopia is a common refractive defect of vision. Person with this defect
can see only nearby objects clearly. Using concave lens of suitable power this defect is
corrected.

(a) Mention other two types of defects like this.

(b) Explain how we can correct it.

[ $@pliys / Turn over
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9fley - III / SECTION - III
(odlLQuataar : 20) / (Marks : 20)
@iy : ()  eaQeurm ugHuldBigih e efem aish BreTE cHlaTmésEhsd
eflen_wefllssa . 4x5=20
(i) eeu@eumm eflenmelln@o Wbgl WHUGLETHET
(i) Coeeuwrear GLmsalle LLD eueys.
Note : (i)  Answer any four questions by choosing one question from each part.
(ii) Each question carries five marks.
(itfy Draw diagrams wherever necessary.

L@S) -1/ PART -1

46. 2.ulfl Qgmfléd mueiwelar LwsTLIGSMET 6T(HSIS.
What are the various applications of Bio Technology. Explain.

47. o msdr UGHL wCRlwr ured o drerg).

(21) @Qsmwars sOUUESS 2ar ugHular 2 flu SUDTEEEES SGHES
2 Cargamer GULPRIEGS.

(<) wCaflwrellar sflwrer Cpmi Bi@duiea CarbLsBss o (Weis.
(@aflir, BH&SD WHND sHEsTLEsD, Cud)

There is a widespread outbreak of malaria in your area.

(a) Suggest some controlling measures to the local authorities concerned.

(b) Pick out the right symptom for malaria.
(Chill and Shiver and a rise in temperature, Diarrhoea)

U@ - I1 /| PART - II
18. L&@WL sreurtisaiey per Gumih LiradlamiGumss (papuild FRHUBHL Gramr®
Bapajsener er(pgis.
(1) s Blopa) wHmb Seubidlar eumasena cfleufl.
(<) <igaflen Bementn SepLoEEmer 6T(LYSIS.
Write the two events involved in the sexual reproduction of flowering plants.
(a) Discuss the first event and write the types
(b) Give advantages and disadvantages of that event.
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2 ms@EpeLwW UGHad BT slGuurigeamed wser seudyndprisar.
aranCeu Birg L HLILT Iy enar 565766 6rentlamenen (PenmEEMET enswIM@heliaer?
In your area there is scarcity of water and due to this people are affected. So, what are
the measures to be taken by you to meet out the scarcity of water.

u@g - 111 / PART - III

(=) @an_rgeiar gl 1 4, gsalgailear ogflen 16 £, erafle, Bilar
Aymd epesamn Hlapew sersdHs. g

() ueu@urmearseilar  slLamwlmu HrambsEgn <enelpen
ppassams@D 2 6rar Caunurpear gCagib pemdlaner 6T(pgis.

(a) Calculate the gram molecular mass of water from the values of gram atomic
mass of hydrogen and of oxygen.
Gram atomic mass of hydrogen=1 g
Gram atomic mass of oxygen=16 g.

(b) Atoms and molecules are the building blocks of matter. List out any three
differences between them.

Gatreu(meueneupiilen QurgiGuwir whmbd TUPAC QUILTSEET 6T(Hg)s.

(1) CH3CH,CHO (<) CH;COCH,

(@) CH3—AC1|-17CI--I3 (/) CHZ;COOH (2-) HCHO
OH

Write the common name and IUPAC name of the following :

(a) CHZCH,CHO (b) CHZCOCH,

() CHs-— CII—I ~CH; (d) CH,COOH () HCHO
OH

U@ - IV [ PART - IV
(@) Pl Lalen (psd Qués elfaw ahsssar_HLar alarées.

= Gmm, . T : : s
() F= FERRGLLET B Lefer rrlGwe NlfHlien safs euigeu.

Bup e mridued elfuliaer eurrsamsseiia eripg)s.
(a) Explain Newton's first law of motion with an example.
m
L F= '_dﬁ'_z' is the mathematical form of Newton's law of gravitation.

Give the statement of Newton’s law. of gravitation.

[ #pliys / Turn over
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53. (1) Spssan_ LTshismen UL euerThal GHSsaD

@ u@sd, i) eloGsHT

(iif) BeradiT (iv) eewgCaramd

@) Hes orppsGarard  (vi) eIHGsTaTD Siwag Wer Caremmd

(a) Draw and label the diagram given below :

(i) Incident ray (i) Refracted ray
(iif) Emergent ray (iv) Angle of refraction
(v) Angle of deviation (vi) Angle of emergence

(=) meaursdean qaflciosd aam 242. gaflldar AmsGassms Aurhssl
@&Qerp@prflen CummeT wrg?

(b) The refractive index of diamond is 2.42. What is the meaning of this statement in
relation to speed of light ?

-00o0-



